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Answer any three questions from the following.

1.  Describe the causes of frustration and write the common frustrations of our society. 14
2. Describe common conflicts of our society. 14
3. Write charactertics of adjustive demands as a basis for severity of stress. 14
4.  Discuss the key aspects of stress. 14
5. Write the reasons for getting married and not getting married. 14
6.  Explain marital styles and marital interaction. 14
7. Discuss the factors affecting mate selection. 14

8.  Explain “Sexroles” and premarital relationship with refrenece to changing premarital

patterns. 14
9.  Fill in the blanks (Any Eight) : 8
(1) The mental state that occurs when there is no success in achieving the goal is
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called
(a) Conflict (b)  Frustration (c) Pressure
The mental state that arises when the problem is not solved immediately is called

(a) Conflict (b)  Frustration (c) Stress

When selecting a job from two favourite jobs a person experience
conflict.

(a) Approach-approach

(b) Avoidance-avoidance

(c) Approach-avoidance
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(4) Tolerating stress without instability is known as
(a) Stress tolerance (b) Severity of stress  (c¢)  Pillars of stress
(5) Stress patterns are .
(a) specific (b)  unknown (¢) known
(6) There is no clear difference between the roles of men and women today. It is
called
(a) Premarital relationship
(b) Male-female role
(c) Eliminating sex roles
(7) Meeting a young man or women is called dating.
(a) before marriage
(b) after marriage
(c) both
(8) plays an important role in mate selection in India.
(a) Beauty of a person
(b)  Socio-economic status
(c) Individual himself

(9) Couples who want to live a married life with home in the centre prefer
marriage style.

(a@) Homecentric (b) Fun marriage (c) Participatory mariage
(10) plays important role in premarital post factors.

(a) Divorce

(b) Child

(c) Family post role
(11) The suggestion regarding what to do and what not to do creates

(a) Pressure (b)  Conflict (c) Frustration
(12) Some people don't marry due to the marriage life of their parents.
(a) unhappy (b)  happy (c) none of these
(13) Socio-economical status of person in mate selection is .
(a) Important (b)  Secondary (c) None of these
(14) In type of marriage there is constant cold war going on in the family.
(a) Homecentric  (b) fun marriage (c) conflicting marriage
(15) Cyclone is the cause of frustration.
(a) internal (b)  external (c) both
(16) In case of road accident conflict between taking the patient to the hospital or to
reach on time for job is the example of  conflict.

(a) Commitment v/s. non involvement
(b)  Selfish vs devotion
(c) None of the above
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